
Exercice: Calculate the Risk for the buildings No. 2, 5, 17



R𝐢𝐬𝐤 𝐀𝐬𝐬𝐞𝐭𝐬 = 𝐩𝐡𝐲𝐬𝐢𝐜𝐚𝐥 𝐯𝐮𝐥𝐧𝐞𝐫𝐚𝐛𝐢𝐥𝐢𝐭𝐲 * Object value / return period

R𝐢𝐬𝐤 𝐏𝐞𝐫𝐬𝐨𝐧𝐬 = Mortality * Willingness to pay / return period

Exercice: Calculate the Risk for the buildings No. 2, 5, 17

Physical vulnerability (PhV)

Object value (OV)

Assets

R𝐢𝐬𝐤 𝐀𝐬𝐬𝐞𝐭 = 𝐏𝐡𝐕 * OV / RP

+

Persons

Exposed time/d (T)
Probability to flee (H)

Physical vulnerability (PhV)

R𝐢𝐬𝐤 𝐏𝐞𝐫𝐬𝐨𝐧 = M * WP / RP * number People

Willingness to pay (WP)

Mortality (M)
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